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AN 32l
2

MY A
ool BEUY B 2 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2

stA2e| ot 22,653,259 24,239,913 N 1,586,654
= 15,910,583
= 6,696,876
£ 45,800

gelstd M PE 4,204,139 2,123,850 2,080,289
= 3,200,000
= 1,004,139

St @3 43 4,204,139 2,123,850 2,080,289
= 3,200,000
= 1,004,139

SH=sMESAXNIEH 4 350,000 350,000 0

307 212t0| & 350,000 350,000 0

02 QIZHEAAIE E X 350,000 350,000 0
Osd=MatAX/AHEH X 350,000

B otNMURHF 3,273,850 1,268,850 2,005,000
= 3,200,000
o=t 73,850

201 LBt 35,000 30,000 5,000

01 AP 22| H| 35,000 30,000 5,000
OAUZBINIE s34 2 35,000

203 € R F=&d| 2,850 2,850 0

03 Al ZHF=XH R = XH| 2,850 2,850 0
OstFae|geEx 2,850

307 212t0| & 36,000 36,000 0

02 QIZHE AAIRE E X 36,000 36,000 0
OrEd AAE=R20| ALY 36,000

403 XX SHHS K20 & 3,200,000 1,200,000 2,000,000
= 3,200,000

01 MXHHAE2E = 3,200,000 1,200,000 2,000,000
O3 st3LEE g2y A 3,200,000
= 3,200,000

MO 2 AT O CH & =& 205,289 130,000 75,289

307 QI2t0| ™ 40,000 0 40,000

02 QI2tAAMAIE E =X 40,000 0 40,000
OX&IIHAN S HIAIS 40,000

308 AHXIEHSOIA 165,289 130,000 35,289

01 AIXSHMENMNEX= 165,289 130,000 35,289
O&HIIHAF 2H 20 22 165,289

SH2H IHoHAIE =8 HAISI A 375,000 375,000 0

307 2iz2tol A 300,000 300,000 0
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ool BEUY B 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 YAFLAANFEE 300,000 300,000 0
O8Z2Y FHAANN S AL YFEA 200,000
Ottt FOIHA S F=AHAH ST A 100,000
308 XXM SO0l A 75,000 75,000 0
01 HIXNHHBNEES 75,000 75,000 0
OP)EEMHALTH FUHLMSZLALY 75,000
Met Dol 2el 3,245,503 3,105,769 139,734
= 470,983
< 2,774,520
CHore 2el 3,011,950 2,798,700 213,250
= 409,500
< 2,602,450
SBZNERES n= 2,442,000 2,267,000 175,000
308 XXM SO A 2,442,000 2,267,000 175,000
02 8+nLF= 2,442,000 2,267,000 175,000
OF=2= W FuR == 2,442,000
S ER NS 1R 22,200 17,900 4,300
308 XtXIEHHSOIA 22,200 17,900 4,300
02 8+N2F= 22,200 17,900 4,300
OstZZiE=2u3 22,200
dEIMAX ST E5 K& 360,750 228,800 131,950
=2 277,500
< 83,250
403 MHXSHHSA=0l& 360,750 228,800 131,950
= 277,500
< 83,250
01 X ESHHMA=E L 360,750 228,800 131,950
OdHIAT S ES ALY 360,750
= 277,500
< 83,250
SHNHESAEE J=XE 55,000 55,000 0
307 glz2tol & 55,000 55,000 0
02 It MAHEE 55,000 55,000 0
OZHNHEHEASE Jl=XE 55,000
MIIXNSA E= 132,000 0 132,000
= 132,000
403 MHXISHE X201 E 132,000 0 132,000
= 132,000
01 XX S22 = 132,000 0 132,000
O&IIXsA B8 90,000
= 90,000




SA: BEBAD
Ha: ME3Do e
Chelr Ho1E 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&IIXsA SHEH & 42,000
= 42,000
g2y ztel 233,553 307,069 AT73,516
= 61,483
= 172,070
SZHUESAE 22 26,600 26,600 0
202 44l 23,600 23,600 0
01 SLHOIYI 23,600 23,600 0
OSZL2HHHEANE B3 2= 23,600
301 gt d= 3,000 3,000 0
1MIIEBESS 3,000 3,000 0
Ooiztetd et thEsgas s34 2,000
OstZgaln(ieg) a2 1,000
s#FaMe B4 117,136 117,136 0
307 21201 A 10,000 10,000 0
02 UAFAAFEX 10,000 10,000 0
OaAHESZSAME s 10,000
308 AHXIEHHSOIA 107,136 107,136 0
01 HIXNHHNBMNELS 107,136 107,136 0
oaHszSMH 29 107,136
=SJAJAZAMA 25 85,017 163,333 AT8,316
= 56,683
< 28,334
402 RIZEX201 A 85,017 158,195 AT3,178
= 56,683
< 28,334
01 It =2 AL B X 85,017 158,195 AT3,178
O=SJZZANAA 2= 85,017
= 56,683
< 28,334
BEHUANMEZ2Z 4,800 0 4,800
= 4,800
308 XX EHHSOIA 4,800 0 4,800
= 4,800
01 HIXNHHBHEELS 4,800 0 4,800
OgiztirssdZAle XA 4,800
= 4,800
HOI=22 HEA Hel & el 15,123,817 18,930,494 A 3,806,677
= 12,239,600
= 2,838,417
£ 45,800
HIOIS2 ¢tEAMe & 2l 15,123,817 18,930,494 A 3,806,677
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M HIISo AHEH M & 2el
S HII22 AFMXMel F 2ol (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 12,239,600
< 2,838,417
£ 45,800

SEHHE =HEAZ A& 540,000 536,380 3,620
= 270,000
< 270,000

308 XXM SO A 540,000 536,380 3,620
=2 270,000
= 270,000

01 IXNHHBANEES 540,000 536,380 3,620
OsZHHlE =H124= N& 540,000
=2 270,000
< 270,000

HI<I MO & X HHl X& 4,435,500 2,714,800 1,720,700
= 4,032,000
< 403,500

403 A X EHHS =0l A 4,435,500 2,714,800 1,720,700
= 4,032,000
< 403,500

01 X HHMA=ZLE L 4,435,500 2,714,800 1,720,700
OHII 40 X Hbl 4,435,500
= 4,032,000
< 403,500

A2EAE EX K& 1,375,000 7,474,000 A 6,099,000
= 1,375,000

403 X SHHSA=0l& 1,375,000 7,474,000 A 6,099,000
= 1,375,000

01 HIXSHMA2E X 1,375,000 7,474,000 A 6,099,000
Ox2Ald &X 1,375,000
= 1,375,000

HIIE+=H ¥ X33 182,197 169,000 13,197

307 glz2+ol & 34,000 34,000 0

02 QB HAANEEX 16,000 16,000 0
OGREENEHZAIEEE W= 16,000

04 DIZHHALALSE E X 18,000 18,000 0
OXE=gode dA 2 18,000

308 XXM SO A 148,197 115,000 33,197

01 IXNSHHBNEES 18,000 18,000 0
OHAtS+=HAH 18,000

10 JIEtRE= 130,197 97,000 33,197
Sorly SaAY 2E3 130,197

M dldel € ™MelAlE X& 1,111,170 968,214 142,956
= 912,100
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Ma: o2 OHFE Hol U el
Selr HIIS2 ¢EHXe ¥ 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

= 153,270
£ 45,800

308 XXM SO A 1,111,170 950,214 160,956
= 912,100
< 153,270
£ 45,800

01 XML EES 1,111,170 950,214 160,956
Oot&ol+ Med] Zatard 1,111,170
2 912,100
< 153,270
£ 45,800

HIOIS2X A EE= 3,250,000 2,634,000 616,000
= 1,500,000
< 1,750,000

403 Mt S S X201 & 3,250,000 2,634,000 616,000
= 1,500,000
< 1,750,000

01 X ESHHMA=LE L 3,250,000 2,634,000 616,000
Os0E HII=2 SEXMeAE & 3,250,000
= 1,500,000
< 1,750,000

Mes HelAd &= 284,900 0 284,900
2 231,000
< 53,900

403 MHtXSHHSA=0l& 284,900 0 284,900
= 231,000
< 53,900

01 HXSHMA=2E X 284,900 0 284,900
OMEEXIAE ESAY 284,900
= 231,000
< 53,900

SSTGHY 2S5 135,050 0 135,050
= 109,500
< 25,550

403 XIS S X201 & 135,050 0 135,050
= 109,500
< 25,550

01 AXSHHMA2E = 135,050 0 135,050
O=sdotd &=EX& 135,050
= 109,500
< 25,550

TR ESME AAAL B 3,810,000 0 3,810,000
2 3,810,000

403 MHXSHHSA=0l& 3,810,000 0 3,810,000
= 3,810,000

01 HXSHMA2E X 3,810,000 0 3,810,000
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